


ltnf]Qdf gu/kflnsf

gu/ sfof{kflnsfsf] sfof{no, 

dl0fu|fd ?kGb]xL % g+= k|b]z g]kfn

cf=j= @)&%÷)&^ sf] k|ult ;ldIff

ldlt M @)&^.)!.)#



ltnf]Qdf gu/kflnsf 

cfo / Joosf] ;|f]t ldnfg

;|f]t k|sf/ ;|f]t cg'dflgt cfo Jff:tljs cfDbfgL -r}q d;fGt;Dd_

;+3Lo ;/sf/ ;dflgs/0f cg'bfg 21,78,00,000=00 16,33,50,000=00

;+l3o ;/sf/ z;t{ cg'bfg 27,55,54,000=00 18,18,00,000=00

;+l3o ;/sf/ ljz]if cg'bfg 2,04,29,000=00 2,04,29,000=00

;+l3o ;/sf/ cGo cg'bfg 15,40,00,000=00 10,25,56,400=00

;+l3o ;/sf/ cGo cg'bfg 25,00,000=00 0=00

k|b]z ;/sf/ k|b]z g+= % - ;dflgs/0f _ 59,78,000=00 29,89,000=00

k|b]z ;/sf/ k|b]z g+= % - z;t{ cg'bfg _ 75,00,000=00 37,50,000=00

/fhZj af8kmf8 /fhZj af8kmf8 - ;+l3o _ 12,62,33,000=00 5,28,48,169=25

/fhZj af8kmf8 /fhZj af8kmf8 - k|b]z _ 2,72,00,000=00 0=00

cfGtl/s >f]t cfGtl/s >f]t 52,08,40,000=00 26,23,26,016=19

cGo /fhZo - hg;xeflutf_ cGo /fhZj -hg;xeflutf_ 40,00,000=00 40,00,000=00



ltnf]Qdf gu/kflnsf 

r}q dlxgf ;Ddsf] Joo ljj/0f

zLif{s cg'dflgt Joo Joo k|ltzt

rfn' 80,52,87,000=00 37,64,20,723=45 46=74

k"+lhut 55,67,47,000=00 13,73,30,641=21 24=67

;du| Joo
1,36,20,34,000=00 51,37,51,364=66 37=72



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ -ltnf]Qdf g=kf=_

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

cfly{s ljsf; 7,64,50,000=00 2,93,99,579=51 38=46

ljQLo If]q 5,00,000=00 0=00 0=00

;xsf/L 15,00,000=00 2,27,420=00 15=16

ko{6g 4,58,50,000=00 2,63,09,183=51 57=38

pBf[u tyf jfl0fHo 13,00,000=00 0=00 0=00

s[lif 2,73,00,000=00 28,62,976=00 10=49

;fdflhs ljsf; 26,56,76,000=00 13,20,97,868=97 49=72

ljljw 16,24,00,000=00 9,66,95,400=00 59=54
n}+lus ;dfgtf tyf ;fdflhs

;dfj]zLs/0f 2,08,00,000=00 11,50,855=00 5=53

;+:s[lt k|j4{g 97,75,000=00 21,00,000=00 21=48

vfg]kfgL tyf ;/;kmfO{ 61,00,000=00 0=00 0=00



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ - ltnf]Qdf g=kf=_

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

:jf:Yo 1,70,76,000=00 45,80,380=00 26=82

lzIff 4,95,25,000=00 2,75,71,233=97 55=67

k"jf{wf/ ljsf; 36,74,25,000=00 8,83,99,032=70 24=06

ljljw 2,25,50,000=00 28,15,284=00 12=48

;+rf/ 15,00,000=00 78,004=00 5=20

phf{ 2,05,00,000=00 69,03,602=00 33=68

ejg tyf ;x/L ljsf; 8,82,50,000=00 3,53,99,004=00 40=11

l;+rfO 4,69,25,000=00 65,08,462=00 13=87

;8s tyf k'n - emf]n''+u] ;d]t_ 18,77,00,000=00 3,66,94,676=70 19=55

jftfj/0f tyf ljkb Joj:yfkg 5,54,00,000=00 1,46,17,399=00 26=39

jf?0f oGq ;+rfng 80,00,000=00 0=00 - cfO;s]sf]_ 0=00



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ - ltnf]Qdf g=kf_ 

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

ljkb Joj:yfkg 10,00,000=00 3,21,057=00 32=11

hn pTkGg k|sf]k lgoGq0f 61,00,000=00 0=00 0=00

kmf]xf]/d}nf Joj:yfkg 2,10,00,000=00 91,34,460=00 43=50

hnjfo' kl/jt{g 8,00,000=00 0=00 0=00

hnfwf/ ;+/If0f 5,00,000=00 2,00,000=00 40=00

jg tyf e'–;+/If0f 1,80,00,000=00 49,61,882=00 27=57

;+:yfut ljsf; tyf ;]jf k|jfx 9,36,00,000=00 3,31,16,287=00 35=38

ljljw 8,53,58,000=00 2,83,51,726=00 33=22

;+:yfut k"jf{wf/ 3,00,000=00 0=00 0=00

kl~hs/0f Joj:yfkg 2,42,000=00 1,42,000=00 58=68

;"rgf k|ljlw 67,00,000=00 46,22,561=00 68=99



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ - ltnf]Qdf g=kf=_

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

;'/Iff Joj:yfkg 10,00,000=00 0=00 0=00

sfof{no ;~rfng tyf k|zf;lgs 20,50,00,000=00 7,62,59,696=38 37=20

kfl/>lds ÷;'ljwf 9,73,00,000=00 3,42,97,789=06 35=25

;]jf dx;'n 55,00,000=00 14,02,473=00 25=50

k"FhLut ;DkQLsf] ;+rfng / ;Def/1,08,00,000=00 35,93,883=00 33=28

sfof{no ;fdfg tyf ;]jfx? 1,46,00,000=00 88,45,401=00 60=58

;]jf tyf k/fdz{ vr{ 1,50,00,000=00 1,27,99,371=32 85=33

sfo{qmd ;DaGwL vr{x? 61,00,000=00 25,01,457=00 41=01

cg'udg, d"Nof+sg / e|d0f vr{ 30,00,000=00 10,92,605=00 36=42

ljljw vr{ 87,00,000=00 45,44,707=00 52=24

;DklQ ;DaGwL vr{ 40,00,000=00 15,19,458=00 37=99



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ - ltnf]Qdf g=kf_

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

e}k/L cfpg] rfn' vr{ 50,00,000=00 0=00 0=00

l:y/ ;DklQ k|flKt vr{ 3,50,00,000=00 56,61,552=00 16=18

hDdf 
1,06,35,51,000=00 37,38,89,863=56 35=15



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ -;+l3o ;/sf/af6 x:tfGtl/t_

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

cfly{s ljsf; 18,78,000=00 69,650=00 3=71

s[lif 18,78,000=00 69,650=00 3=71

;fdflhs ljsf; 26,93,06,000=00 13,88,16,846=10 51=55

n}+lus ;dfgtf tyf ;fdflhs 

;dfj]zLs/0f 16,69,000=00 9,07,402=30 54=37

vfg]kfgL tyf ;/;kmfO{ 62,000=00 0=00 0=00

:jf:Yo 3,51,17,000=00 2,00,73,935=90 57=16

lzIff 23,24,58,000=00 11,78,35,507=90 50=69

k"jf{wf/ ljsf; 12,16,000=00 0=00 0=00

phf{ 12,16,000=00 0=00 0=00

jftfj/0f tyf ljkb Joj:yfkg 3,00,000=00 0=00 0=00

jg tyf e'–;+/If0f 3,00,000=00 0=00 0=00



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ -;+l3o ;/sf/af6 x:tfGtl/t _

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

sfof{no ;~rfng tyf 

k|zf;lgs 28,54,000=00 0=00 0=00

kfl/>lds ÷ ;'ljwf 28,54,000=00 0=00 0=00

hDdf 27,55,54,000=00 13,88,86,496=10 50=40



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ - :yfgLo k"jf{wf/ ljsf; 

;fem]bf/L_

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

k"jf{wf/ ljsf; 2,04,29,000=00 10,00,000=00 4=90

;8s tyf k'n - emf]n'+u] _ 2,04,29,000=00 10,00,000=00 4=90

hDdf 2,04,29,000=00 10,00,000=00 4=90



ltnf]Qdf gu/kflnsf 

If]qut ah]6 tyf vr{ - nlIft ;d"xut ah]6 tyf 

vr{ _

If]q÷pk If]q cg'dflgt vr{ vr{ k|ltzt

cGo 1,04,30,51,000=00 37,27,39,008=56 35=74

dlxnf 62,00,000=00 4,52,725=00 7=30

cflbjf;L ÷hghftL 10,00,000=00 3,00,000=00 30=00

dw];L 10,00,000=00 43,900=00 4=39

blnt 20,00,000=00 3,46,300=00 17=32

ckf+u 10.00,000=00 0=00 0=00

h]i7 gful/s 93,00,000=00 7,930=00 0=09

hDdf 1,06,35,51,000=00 37,38,89,863=56 35=15




